
https://www.leads4pass.com/250-556.html
2024 Latest leads4pass 250-556 PDF and VCE dumps Download

 

 

 

250-556Q&As

Administration of Symantec ProxySG 6.7

Pass Symantec 250-556 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/250-556.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Symantec
Official Exam Center

 

 

250-556 PDF Dumps | 250-556 Practice Test | 250-556 Braindumps                                1 / 6

https://www.leads4pass.com/250-556.html
https://www.leads4pass.com/250-556.html
https://www.leads4pass.com/250-556.html


https://www.leads4pass.com/250-556.html
2024 Latest leads4pass 250-556 PDF and VCE dumps Download

QUESTION 1

What results when the ProxySG bypasses traffic in explicit mode? (Choose the best answer.) 

A. An exception message is displayed to the user 

B. Only the default policy can be applied 

C. The traffic is redirected 

D. Policies are unable to be applied 

Correct Answer: A 

 

QUESTION 2

Which proxy service intercepts HTTPS traffic when browsers point directly to the ProxySG and Detect Protocol is
enabled? (Choose the best answer.) 

A. SSL 

B. Explicit HTTP 

C. HTTPS 

D. TCP Tunnel 

Correct Answer: B 

 

QUESTION 3

In which caching technique does the ProxySG open multiple server connections to retrieve objects referenced on a web
page before the client actually issues the requests for those objects? (Choose the best answer.) 

A. Popularity contest 

B. Cost-based deletion 

C. Asynchronous adaptive refresh 

D. Pipelining 

Correct Answer: D 

 

QUESTION 4

How does the ProxySG handle a rule that contains a syntax error when the ProxySG processes installed policy as part
of a client transaction? (Choose the best answer.) 
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A. The ProxySG changes the transaction status to Deny and makes an entry in the event log 

B. The ProxySG stops processing of the layer containing the rule and continues with the next layer, if any 

C. This is NOT possible; rules with syntax errors are unable to be installed. 

D. The ProxySG skips the rule and does NOT change the accept or deny status of the transaction 

Correct Answer: A 

 

QUESTION 5

In which type of physical deployment does a ProxySG have potential visibility to all traffic through the use of a device
such as WCCP-capable router or a Layer 4 switch? (Choose the best answer.) 

A. Transparent 

B. Explicit 

C. Layer 4 

D. In-path 

Correct Answer: A 

 

QUESTION 6

In which caching technique are objects that require more server-side bandwidth and response time less likely to be
deleted from the cache? (Choose the best answer.) 

A. Round robin 

B. Cost-based deletion 

C. Popularity contest 

D. Asynchronous adaptive refresh 

Correct Answer: D 

 

QUESTION 7

Which two (2) services are provided by the ProxySG? (Choose two.) 

A. Virus scanning 

B. Sandboxing 

C. Encrypted traffic management 

D. Policy enforcement 
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E. Forensic analysis 

Correct Answer: CD 

 

QUESTION 8

How does an administrator create a single group in policy that includes multiple client addresses? (Choose the best
answer.) 

A. Create a combined policy object. 

B. Include the addresses in a layer guard. 

C. This can only be done using CPL. 

D. Use a dedicated layer. 

Correct Answer: A 

 

QUESTION 9

When will a policy trace report a rule processing result of "N/A"? (Choose the best answer.) 

A. When the layer containing the rule is disabled 

B. When the rule is not reached during evaluation 

C. When the rule makes no sense for the specific transaction being processed 

D. When the rule is contradicted by a subsequent rule 

Correct Answer: C 

 

QUESTION 10

Which two (2) situations might require a reverse DNS lookup? (Choose two.) 

A. If the access log is enabled and a field in the access log requires a hostname 

B. If both the primary and alternate forward DNS servers go down 

C. If primary authentication fails 

D. If a policy trigger event requires it 

E. If a forward DNS lookup fails 

Correct Answer: AD 
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QUESTION 11

What is the primary benefit of using Integrated Windows Authentication (IWA) authentication realms? (Choose the best
answer.) 

A. Single sign-on experience for users 

B. Better performance by using NTLM credentials 

C. Ability to use Kerberos credentials 

D. Greater security than LDAP 

Correct Answer: A 

 

QUESTION 12

When does the ProxySG establish an Schannel? (Choose the best answer.) 

A. When the client sends an NTLM type 2 message to the ProxySG 

B. When a client request is first received 

C. When IWA authentication fails 

D. When the client sends an NTLM type 3 message to the ProxySG 

Correct Answer: A 

 

QUESTION 13

What must the virtual URL point to, when the ProxySG utilizes a virtual URL for user authentication in a transparent
deployment? (Choose the best answer.) 

A. The IP address of the origin content server 

B. The IP address of the ProxySG 

C. A hostname that the user agent can DNS-resolve to an IP address 

D. The hostname of the origin content server 

Correct Answer: C 

 

QUESTION 14

When must BCAAA be used? (Choose the best answer.) 

A. When an administrator needs to establish more than one Schannel to increase performance. 

B. When more than one ProxySG are deployed 
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C. When the ProxySG is unable to directly utilize APIs that require traditional operating systems. 

D. When Basic credentials are used 

Correct Answer: C 

 

QUESTION 15

Which two (2) errors are the most common certificate errors? (Choose two.) 

A. The server does NOT recognize the ProxySG. 

B. The client does NOT trust the server. 

C. The client does NOT trust the ProxySG. 

D. The ProxySG does NOT trust the server. 

E. The server does NOT trust the client. 

Correct Answer: CD 
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